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Ⅰ　注意事項
　　解答用紙に英語と記入・マークし解答してください。
　　問題は１ページから６ページまでです。
　　問題は持ち帰ってもよいが、法律上コピーして配ってはいけません。

Ⅱ　解答上の注意
　　解答は、解答用紙の解答欄にマークしてください。例えば、 10 と表示のある問いに対

して④と解答する場合は、下記の（例）のように解答番号 10 の解答欄の④にマークし
てください。

（例）

解　　答　　欄解答
番号

12 ① ② ③ ④ ⑤

（例）

解　　答　　欄解答
番号

10 ① ② ③ ④ ⑤ ⑥ ⑦ ⑧ ⑨ ⓪

（例）

解　　答　　欄解答
番号

10 ① ② ③ ④ ⑤ ⑥ ⑦ ⑧ ⑨
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問題Ⅰ　�次の問１～１５に関して、英単語の意味として正しいものを①～④の中から一
つずつ選べ。ただし、④は正解が①、②、③のどれでもない場合の解答となる。

　　　　解答番号は １ ～ 15 。

問 1	 flow　 １

	 ① 流れ	 ② 展示	 ③ 影	 ④ 左のどれでもない

問2	 maintain　 ２

	 ① 測量する	 ② 操作する	 ③ 維持する	 ④ 左のどれでもない

問3	 absence　 ３

	 ① 廃止	 ② 不在	 ③ 虐待	 ④ 左のどれでもない

問4	 curious　 ４

	 ① 貴重な	 ② 安心できる	 ③ 鋭い	 ④ 左のどれでもない

問5	 nowadays　 ５

	 ① 最近は	 ② 数日間は	 ③ 当然	 ④ 左のどれでもない

問6	 complicated　 ６

	 ① 慎重な	 ② 好都合の	 ③ 比較できる	 ④ 左のどれでもない

問7	 proceed　 ７

	 ① 構成する	 ② 植え付ける	 ③ 進む	 ④ 左のどれでもない

問8　　civil　 ８

	 ① 神秘的な	 ② 民間の	 ③ 平凡な	 ④ 左のどれでもない

問9	 import　 ９

	 ① 輸出	 ② 港	 ③ 産業	 ④ 左のどれでもない

問10	 remind　 10

	 ① 思い出させる	 ② 依存する	 ③ 尊敬する	 ④ 左のどれでもない
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問11	 generally　 11

	 ① 水平に	 ② 一般に	 ③ 絶えず	 ④ 左のどれでもない

問12	 heritage　 12

	 ① 遺産	 ② 祖先	 ③ 彫刻	 ④ 左のどれでもない

問13	 calculate　 13

	 ① 限定する	 ② 合併する	 ③ 計算する	 ④ 左のどれでもない

問14	 anniversary　 14

	 ① 暗殺	 ② 輝き	 ③ 予測	 ④ 左のどれでもない

問15	 rapidly　 15

	 ① 次第に	 ② 根本的に	 ③ 急速に	 ④ 左のどれでもない

問題Ⅱ　�次の問１～５に関して、最初の語の下線部と同じ音を持つ語を①～④の中から
一つずつ選べ。解答番号は 16 ～ 20 。

問 1	 wide　 16

	 ① finger	 ② flight	 ③ police	 ④ think

問2	 weather　 17

	 ① clean	 ② great	 ③ pleasure	 ④ meat

問3	 character　 18

	 ① approach	 ② chair	 ③ machine	 ④ stomach

問4	 troop　 19

	 ① boost	 ② coordinate	 ③ hook	 ④ poor

問5	 chase　 20

	 ① accuse	 ② clause	 ③ cruise	 ④ loose
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問題Ⅲ　�以下の日本語の意味に合うように、カッコ内の語を並べ替えて英文を完成さ
せ、２番目と５番目に来るものの組み合わせとして最も適切なものを①～⑤の
中から一つずつ選べ。ただし、文頭に来る語も小文字にしてある。解答番号は
21 ～ 25 。

問１	 電車でそこに行くには１時間かかります。　 21

	 （ ア by	 イ get	 ウ hour	 エ it	 オ one
	   カ takes	 キ there	 ク to	 ケ train ）.
　　　
	 ①（2 番目）イ ― （5 番目）エ
	 ②（2 番目）イ ― （5 番目）キ
	 ③（2 番目）ウ ― （5 番目）イ
	 ④（2 番目）カ ― （5 番目）イ
	 ⑤（2 番目）カ ― （5 番目）ク

問２	 海外に行こうとする学生が何人もいる。　 22

	 （ ア a	 イ abroad	 ウ go	 エ number
	 　オ of	 カ students	 キ to	 ク try ）.
　　
	 ①（2 番目）エ ― （5 番目）ウ
	 ②（2 番目）エ ― （5 番目）ク
	 ③（2 番目）オ ― （5 番目）ウ
	 ④（2 番目）オ ― （5 番目）キ
	 ⑤（2 番目）オ ― （5 番目）ク

問３	 受賞した人を知っていますか。　23

	 （ ア do	 イ know	 ウ prize	 エ the
	 　オ who	 カ won	 キ you ）?
　　  
	 ①（2 番目）ア ― （5 番目）イ
	 ②（2 番目）ア ― （5 番目）エ
	 ③（2 番目）オ ― （5 番目）エ
	 ④（2 番目）キ ― （5 番目）オ
	 ⑤（2 番目）キ ― （5 番目）カ
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問4	 期限を延ばした方がいいでしょう。　24

	 （ ア the	 イ deadline	 ウ had
	 　エ extend	 オ better	 カ we ）.
　　　　
	 ①（2 番目）ウ ― （5 番目）ア
	 ②（2 番目）ウ ― （5 番目）イ
	 ③（2 番目）エ ― （5 番目）ア
	 ④（2 番目）エ ― （5 番目）ウ
	 ⑤（2 番目）エ ― （5 番目）オ 

問5	 その件については折り返し電話させて下さい。　25

	 （ ア back	 イ call	 ウ let	 エ me
	 　オ on	 カ that	 キ you ）.
       
	 ①（2 番目）イ ― （5 番目）オ
	 ②（2 番目）ウ ― （5 番目）イ
	 ③（2 番目）ウ ― （5 番目）オ
	 ④（2 番目）エ ― （5 番目）ア
	 ⑤（2 番目）エ ― （5 番目）イ

問題Ⅳ　�次の問１～１５に関して、各文の空欄に入れるのに最も適当なものを①～④の
中から一つずつ選べ。解答番号は26～40。

問 1	 I don’t like to live in a house 26  privacy is impossible.

	 ① what	 ② how	  ③ where	 ④ which

問2	 Mary looked 27  when she heard the good news.

	 ① be happily	 ② be happy	 ③ happily	 ④ happy

問3	 This is 28  music I have ever heard in my life. 

	 ① sweetest	 ② the sweetest	 ③ most sweet	 ④ the most sweet

問4	 The final decision must 29  immediately.

	 ① be made	 ② made	 ③ make	 ④ making

問5	 I didn’t understand 30  what the teacher said in the class.

	 ① at all	 ② little	 ③ neither	 ④ some
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問6	 This museum was designed and 31  by a famous architect.

	 ① build	 ② building	 ③ built	 ④ to build

問7	 My brother will go to China 32  sightseeing next summer.

	 ① because	 ② for	 ③ till	 ④ to

問8	 I went to an Italian restaurant yesterday. I 33  my soup, when a fly landed in it.

	 ① am eating	 ② eat	 ③ eaten	 ④ was eating

問9	 She 34  her way.

	 ① lose	 ② get lost	 ③ have lost	 ④ may have lost

問10	 There is too much noise. Can you all 35 , please? 

	 ① stop talk	 ② stop to talk	 ③ stop talking	 ④ stop to talking

問11	 Everybody 36  her as a professional singer.

	 ① is known	 ② have known	 ③ know	 ④ knows

問12	 I think that preparing dinner for many guests 37  a lot of energy.

	 ① is required	 ② requires	 ③ requiring	 ④ to require

問13	 He doesn’t know 38  for his girlfriend’s birthday.

	 ① if buying	 ② if to buy	 ③ what buying	 ④ what to buy

問14	 I have found the gloves you are looking for. Here 39  .

	 ① it is	 ② is this	 ③ they are	 ④ are these

問15	 �I have never addressed her by her first name 40  I have known her for ten 
years.

	 ① as if	 ② even though	 ③ only because	 ④ so that
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問題Ⅴ　次の文章について設問に答えよ。解答番号は 41 ～ 49 。

Trains have long been an important form of transportation. Yet they have changed a 
lot since 1804, 41  the first train moved at 8 kph. Today’s high-speed trains can go 300 
kph or faster. Besides their speed, they have many other advantages over other types 
of transportation.
　Japan built the world’s first high-speed railway. In 1964, Japan’s “Shinkansen” trains 
started 42  between Osaka and Tokyo at 200 kph. Over time, many more lines, as well 
as faster trains, were built. Before long, every major city in the country will be linked 
with high-speed trains.
　Many other countries, 43  Korea, England, and the USA, now have their own high-
speed systems. The world’s newest high-speed train line started running in Taiwan in 
2007. Its trains are based 44  the latest Shinkansen technology and can travel from one 
end of Taiwan to the 45  in less than two hours!
　These systems are expensive 46  build, but they have many advantages. For 
example, they are good for the environment. Trains on the London-to-Paris line cause 
one-tenth the pollution that 47  cause. High-speed trains are also safer and cleaner than 
cars.
　Super-fast trains can even help a country’s economy. They make 48  easier to travel 
to places that are far away. This helps businesses and increases land values in those 
areas. It’s no wonder so many countries are building their own high-speed railways.

　出典：Andrew E. Bennett　　Reading Pass 1　　Nan’undo　　一部改変

問１	 �41 ～ 48 に入るべき語を下の①～⑧から選べ。ただし、それぞれ一度のみ使
用するものとする。

	 ① including
	 ② it
	 ③ on
	 ④ other
	 ⑤ planes
	 ⑥ to
	 ⑦ traveling
	 ⑧ when                           

問2	 次の問いの答として最も適したものを①～④の中から一つ選べ。�49  

	 What is the article’s main idea?

	 ① Trains are the world’s most economical form of transportation.
	 ② It used to take a long time to travel around Taiwan.
	 ③ We should do everything we can to help the environment.
	 ④ There are many good reasons to build high-speed railways.


